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I:P?t% BEAZHZEAH— 17 28 —E2ZRABEHLSAHE- 11 3
@l = BE & ooF) EARE F—LBH B& |mik
No & X £ BFR |6 /K (B S8 |EL B8R |IEE &K | BE | TH5 | b, | BE |IE
1 [3RAchs| - BKK 2 |E/@ Z% | 7 9050 | 7 | 8450 | 6 | 10250 | 7 |27.750 | 25.200 | 23.250 | 26.900 |75.350 | 1
2 |#WE chieys | 7 - BKEK 2 |2 &% | 9 | 8850 | 15| 5950 | 10 | 8200 | 10 |23.000
3 |HmE k| B EAK 2 ()l &F | 167300 | 10| 6700 | 9 | 8450 | 11 |22.450
4 |HRETER @ EKE 2 |f8lu Ef | 177250 | 8 | 8100 | 11| 8000 | 9 |23350
5 |mmenses| AERK 2 |48 FHiF | 12 8150 | 20 | 4200 | 22 | 6.450 | 17 | 18.800 | 23.800 | 12.050 | 21.000 |56.850 | 3
6 |mmxmaey| EERK 2 | KB #F#EI | 10| 8450 | 22 | 3300 | 18 | 6.950 | 18 |18.700
7 |mozmers| BERX 2 |83k ¥EJy | 19| 7200 | 19 | 4550 | 14 | 7.600 | 16 | 19.350
8
9 |wEsmper| iR 2 |EEBBE | 11825 | 11| 6650 | 8 | 9.000 | 8 |23.900 | 23.200 | 18.450 | 24.750 |66.400 | 2
10| mEsmps| hRX 2 | K# MEE | 14| 7700 | 12 | 6550 | 13 | 7.750 | 12 |22.000
1 |mEemdes hRK 2 [ILA % | 23|5400 | 16 | 5250 | 11 | 8000 | 19 |18.650
12|mrsmEnsy| RARR 2 (db)EFE 17 | 7250 | 26 | 0500 | 24 | 6.000 | 24 |13.750
13| mEsmEhes) PRE |BA| 1 |SHER 24 | 0000 | 21 | 4000 | 21 | 6550 | 25 |10.550
14| mEsmEbes) PRE |BA| 1 |SHBE 21 [ 6.000 | 24 | 2700 | 25 | 5400 | 22 |14.100
15| mrsmast) FRE |[BA] 1 [SEESE 24 10000 | 9 | 6900 [ 17| 7.000 | 23 |13.900
16| mrEmEsey| FRE |BA]l 1 | KBFE 24 | 0000 | 18 | 4800 | 26 | 4.650 | 26 | 9.450
17| RIRPEEK| BE-2KR|BA] 1 |BFES 1 |12250| 1 | 12500 | 1 | 12950 | 1 |37.700
18| rathsik Am-EKR(EA| 2 [FH B0 | 4 [10800| 6 | 8600 | 5 | 10.650 | 5 |30.050
19 [3tra bt | 7- 2K (|[EA| 1 [HAR F24£ | 2 (11300 3 | 10600 | 4 | 11650 | 3 |33.550
20| EETEK| BER [BA] 2 |#%EEBiIETm | 5 [10400 | 2 | 11350 | 2 | 12200 | 2 |33.950
21 (Blahses| BERX |BA|l 1 |dF EZ | 7 | 9050 | 4 | 9600 | 7 | 9.250 6 |27.900
22| KEh=2#%| X |@BA| 2 |[A$ E3 | 3 |11.100| 5 | 8650 | 3 | 11.950 [ 4 |31.700
23 (At | #-ER|EA| 2 |{EFEESRE | 6 | 9200 | 17 | 4950 | 15 | 7.550 | 13 |21.700
24 |Fwahek E-2KX|EA] 2 |BHEKE Ty Iy Thy |wHs X5y
25 |sachseks | F-BEAR(EA| 2 (BE F7v | 14| 7.700 | 13 | 6.450 | 16 | 7.250 | 14 |21.400
26 | e B-EKX(EA] 2 |1 ME 20 | 6.600 | 25 | 2.100 | 20 | 6.700 | 21 |15.400
27 |#mathis | B-EKX(EA] 2 A EE | 22 | 5900 [ 22 | 3300 | 19 | 6.750 | 20 |15.950
28 [#marmhyd B-BAR[BEA| 2 [BX Y& Y oy Iy || XY
29 |HmE k| H-EAX|(EA] 2 |k ZEA | 13 | 8000 [ 14 | 6300 | 23 | 6.300 | 15 |20.600




